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001.  ‛DFZ[ 56 V[S 3Z CMI‟4 UF\9 K}8IFGL J[/4 ‛BZL 50[,M 8C]SM‟4 H[JL p¿D GJ,SYFVM SMGL K[ m
(A) S]\NlGSF SF5l0IF (B) WLZ]AC[G 58[, (C) XZLOF JLH/LJF/F (D) JQFF" V0F,Ô

002. BF,L HuIFDF\ S. ;\bIF VFJX[ m

(A) 7 (B) 40 (C) 21 (D) 28

003. Translate the following sentence into English.

"VCL\ VFIFTL DF, J[RFI K[P"
(A) Imported goods sold here. (B) Imported goods were sold here.
(C) Imported goods is sold here. (D) Imported goods are sold here.

004. „O0S‟ v XaNGM VY" H6FJMP

(A) 5C[Z[,F S50FGM h},TM K[0M (B) YF5M8
(C) BM8LvAGFJ8L JFT (D) 0MlSI]\ SZJ]\

005. Ô[0SF Ô[0MP
(a) lRNdAGFZ 5M8" (1) .gGMZ
(b) lNGNIF, 5M8" (2) GJL D]\A.

(c) HJFCZ 5M8" (3) T]TLSMZLG

(d) SFDZFH 5M8" (4) S\0,F
(A) a-3 , b-4 , c-2 , d-1 (B) a-1 , b-3 , c-4 , d-2 (C) a-2 , b-1 , c-3 , d-4 (D) a-4 , b-2 , c-1 , d-3

006. Select a single word for a given phrase/sentence“Science of origin of universe”
(A) astronomy (B) astrology (C) cosmology (D) numerology

007. P5Y, R7V, T10S, V14P __?___
BF,L HuIFDF\ IF[uI lJS<5 D}SF[ o
(A) Z180 (B) X 19 M (C) X 19 N (D) W 9 R

008. Z3]JLZ RF{WZLG[ 5|F%T YI[, V[JM0" ;\A\lWT Ô[0SF Ô[0MP
5]Z:SFZ S'lT 

(i) GD"N ;]J6" R\§S (a) lT,S SZ[ Z3]JLZ

(ii) lN<,L ;FlCtI VSFNDL (b) VD'TF
(iii) 7FG5L9 5]Z:SFZ (c) p5ZJF; SYF+IL
(A) i – c, ii – a, iii – b (B) i – a, ii – c, iii – b (C) i – b, ii – a, iii – c (D) i – a, ii – b, iii – c

009. Ô[3 5 5x y  VG[
5

7

x

x y



TF[ x y GL lS\DT XF[WF[P

(A) 3 (B) 4 (C) 6 (D) 9

010. „lNU\T‟ XaNGL ;FRL ;\lW 5;\N SZMP

(A) lNUŸ ´ V\T (B) lNU ´ V\T (C) lNSŸ ´ V\T (D) NLSŸ ´ VgT

011. SMQFS[gã ãjI VG[ SMQFZ; JrR[ ãjIMGF lJlGDI DF8[ S. V\lUSF HJFANFZ K[m
(A) SMQFlNJF, (B) SMQFZ;58, (C) SMQFS[gã58, (D) S6FE;}+

012. SlJ lJGMN Ô[XLG]\ 5}Z]\ GFD H6FJMP

(A) lJGMN 5|AMWZFI Ô[XL (B) lJGMN ,F,ÒEF. Ô[XL (C) lJGMN E}QF6,F, Ô[XL (D) lJGMN CZUMÃJN Ô[XL

013. The antonym of Abundant is
(A) Needy (B) Difficult (C) Scarce (D) Plenty

014. SlJ CZLg§ NJ[GL S'lT H6FJMP
(A) UF\WLGL SFJ0 (B) UF\WLGF RxDF (C) UF\WLGL ,FS0L (D) UF\WLGL ,0F.

015. XF;S VG[ T[GF ;]AFVMGL IMuI Ô[0SF Ô[0MP
XF;S ;]AFVM

(i) R\§U]%T (a) ;]lJXFB

(ii) VXMS (b) T]QFFQO

(iii) ~§NFDF (c) 5'QIU]%T
(A) iii – a , ii – b , i – c (B) iii – b , ii – a , i – c (C) ii – c , iii – b , i – a (D) ii – c , iii – a , i – b 

016. V\S[ YF\E,FGL l+ßIF 20 ;[PDLP K[ VG[ ëRF. 10 DL8Z K[ TM 14 YF\E,F DF8[ S[8,F 3GDL8Z SF\[lÊ8 HM.V[m
(A) 176 3GDL8Z (B) 17.6 3GDL8Z (C) 1.76 3GDL8Z (D) 1760 3GDL8Z

3

120 36

2

24120 

5 

20 



Talati_Junior_Clerk_Mock_Test_1 3 

017. RZF[TZGF D[NFGGL ZRGF GLR[GF 5{SL S. GNLVF[V[ lG1F[5 SZ[,F SF\5 äFZF Y. K[ m
1. DCL 2. lJ`JFlD+L 3. X[-L 4. JF+S

(A) OST 1 VG[ 2 (B) OST 2 VG[ 3 (C) OST 1, 3 VG[ 4 (D) 1, 2, 3 VG[ 4

018. MS Word DF\ ,BF6GF OMg8G[ DM8F SZJF DF8[ SIF lJS<5GM p5IMU SZXM m
(A) Ctrl + Alt + '+' (B) Ctrl + Shift + '+' (C) Ctrl + Alt + > (D) Ctrl + Shift + >

019. ——___________ˆˆH{G DCF5lZQFNGF VFIMHGDF\ J<,EL BFT[ ——___________ˆˆ G]\ lJX[QFIMUNFG Zæ]\ K[P

(A) ALÒVG[ E§FS" (B) ALÒ VG[ R\§,[BF (C) 5|YD VG[ R\§,[BF (D) ALÒ VG[ 3Z;[G

020. „SFI"ÊD‟ v XaNGL wJlGz[6L H6FJMP

(A) SŸ ´ VF ´ ZŸ ´ IŸ ´ V ´ ÊŸ ´ V ´ DŸ (B) SŸ ´ VF ´ ZŸ ´ IŸ ´ V ´ SŸ ´ ZŸ ´ DŸ
(C) SŸ ´ VF ´ ZŸ ´ IŸ ´ V ´ SŸ ´ ZŸ ´ DŸ ´ V (D) SŸ ´ VF ´ ZŸ ´ I ´ V ´ SŸ ´ ZŸ ´ DŸ

021. ;M,\SL J\XGF ZFÔ VG[ T[GL p5FWLVMGF Ô[0SF Ô[0MP

(i) ELDN[J 5|YD (a) EM/MELD
(ii) l;âZFH (b) U]HZFTGMVXMS

(iii) S]DFZ5F/ (c) AF6FJF/L
(iv) ELDN[J ALÔ (d) AA"ZS lHQ6]\
(A) i – c , ii – d, iii – b, iv – a (B) i – a , ii – d, iii – b, iv – c
(C) i – c , ii – d, iii – a, iv – b (D) i – a , ii – d, iii – c, iv – b 

022. Change the degree:
Ashoka was one of the greatest kings.
(A) No other king was so great as Ashoka. (B) Very few kings were as great as ashoka.
(C) Ashoka as greater than any other king. (D) Some other kings were as greater as Ashoka.

023. S]T]A]¡LG VCDNXFCG]\ D}/GFD H6FJMP
(A) B,L,BFG (B) H,F,BFG (C) TFTFZBFG (D) OT[CBFG

024. 72 ,L8Z N}W VG[ 5F6LGF lDz6DF\ 5F6L OST 20% K[P N}WJF/M VFDF\YL 9 ,L8Z lDz6 V[S U|FCSG[ VF5[ K[ VG[
JW[,F lDz6DF\ 17  ,L8Z 5F6L pD[Z[ K[P TM GJF lDz6DF\ N}WGL 8SFJFZL S[8,L CX[m
(A) 59% (B) 61% (C) 37% (D) 63%

025. .P;P 1921DF\ ___________ 5\ÔAGF DMg8 UMDZL lH<,FDF\ C0%5F VG[ .P;P 1922DF\ __________ Ã;3GF ,FZBFGF
lH<,FDF\ DMC[\vÔ[vN0MGL XMW SZL CTLP

(A) VFZP0LPA[GÒ" VG[ NIFZFD ;CFGL (B) NIFZFD ;CFGL VG[ VFZP0LPA[GÒ"

(C) NIFZFD ;CFGL VG[ DFWM:J~5 Jt; (D) VFZP0LPA[GÒ" VG[ V[;PVFZPZFJ

026. „,L,FJTL‟ VG[ „ALHUl6T‟ U|\YM SIF Ul6TXF:+LV[ ,bIF\ CTF m

(A) VFI"EÎ (B) A|ïU]%T (C) EF:SZFRFI" (D) JZFClDCLZ

027. 1857GF ;\U|FD ;\A\lWT VIMuI Ô[0 5;\N SZMP

(A) SFG5]ZDF\  GFGF;FC[A 5[̀ JF (B) ,BGF{DF\  A[UD ChZT DC[,[

(C) lACFZDF\  HUNLX5]ZGF ÔULZNFZ S'Q65F,Ã;C (D) U]HZFTDF\  UZA0NF; D]BL4 Ô[WF DF6[S4 D]/] DF6[S

028. Change the Voice : We have already done the exercise.
(A) Already, the exercise has been done by us (B) The exercise has already been done by us
(C) The exercise had been already done by us (D) The exercise is already done by us

029. DMCG,F, SFD[`JZ 5\0IFV[ SMGF 5Z AMdA O[\SIF CTF m
(A) JF.;ZMI lDg8M VG[ ,[0L lDg8M (B) SG", JFI,L

(C) gIFIFWLX ÃSu;O0" (D) l0l:8=S8 D[lH:8=[8 VFXM

030. V[S jIÂSTG[ ~FP7000 DF\YL S[8,LS ZSDGL JFlQF"S 6% jIFH[ ,F[G VF5L VG[ AFSLGL ZSDGL 4% jIFH[ ,F[G VF5LP
AgG[ ,F[G 5Z 5F\R JQF"[ D/[, jIFH HM ~FP1600 CF[I TF[ T[ jIÂSTV[ 6% jIFH[ S[8,L ZSDGL ,F[G VF5L CX[m
(A) ~FP2500 (B) ~FP2000 (C) ~FP1500 (D) ~FP1000

031. U]HZFTDF\ EZJF06MG]\ µGL J:+G]\ GFD H6FJMP
(A) ,MA0L (B) 5FZ[Jp (C) 1FF{D (D) .,FI

032. 5'yJLG]\ E}vUE" SIF GFD[ VM/BFI K[ m

(A) ;F.DF (B) l;IF, (C) lGO[ (D) D[g8,

033. lJ`JGM 5|YD E}UM/lJNŸ SM6 K[ m
(A) Y[<; (B) .aGvAT}TF (C) SF," l,8Z (D) EF:SZFRFI"
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034. IMuI Ô[0SF\ Ô[0MP
D[/F lTYL 

(i) DCFlXJZF+LGM D[/M (a) R{+ ;]N 5}l6"DF
(ii) SFlT"SL 5}l6"DFGM D[/M (b) DCF JN RF{N;

(iii) ,L,L 5lZÊDF (c) SFZTS ;]N VULIFZ;YL 5}GD
(A) i – a, ii – b, iii – c (B) i – b, ii – c, iii – a (C) i – c, ii – a, iii – b (D) i – b, ii – a, iii – c

035. Fill in the blank: We__________ TV when it started to rain. (to watch)
(A) are watching (B) were watching (C) shall be watching (D) is watching

036. D<,ÞFGL ;FD]§W]GL SMG[ Ô[0[ K[ m

(A) V\NDFG VG[ Nl1F6RLG ;FUZ (B) DgGFZ VG[ A\UF/FGL BF0L
(C) V[S[I GlC (D) T:DFG;FUZ VG[ Nl1F6 ;FUZ

037. ;LDF T[GF 5lT VHI SZTF\ 6 JQF" GFGL K[P VG[ VHI T[GL lNSZL kTF SZTF 5 U6M DM8M K[P HM kTFGL p\DZ 3

JQF" 5C[,F\ 3 JQF" CMI TM4 ;LDFGL CF,GL p\DZ S[8,L CX[m
(A) 35 (B) 34 (C) 39 (D) 40

038. EMZ3F8 SIF VFJ[,M K[ m
(A) lCDF,I (B) NFlHÅ,U (C) 5lüD3F8 (D) lTA[8

039. clU,M8LGc X]\ K[ m

(A) A\G[ U'CMDF\ BZ0M ZH} SZJFGL 5|lÊIF
(B) BZ0F 5Z DTNFGGM ;DI GÞL SZL RRF"G[ 8SFJJFGL 5|J'lT
(C) ZFQ8=5lT äFZF BZ0M 5;FZ SIF" JUZ J8C]SD ÔC[Z SZJM

(D) BZ0F 5Z ;LW] DTNFG SZFJJ]\

040. GLR[ NXF"J[, lJS<5M 5{SL SIF lJS<5 ;FRM GYLm
(A) 0F\U lH<,M v AZ0L5F0FG]\ VeIFZ6 (B) ÔDGUZ lH<,M v UFUF VeIFZ6

(C) ZFHSM8 lH<,M v CL\UM/U-G]\ VeIFZ6 (D) VDZ[,L lH<,M v ZFD5]ZF VeIFZ6

041. KMSZFVMGL VF0L ,F.GDF\ zLGFY 0FA[YL 7 DM K[P VG[ J[\S8 HD6[YL 12 DM K[P HM T[DGL l:YlT AN,JFDF\ VFJ[ TM
zLGFY 0FA[YL 22 DM VFJ[ K[ TM T[ ,F.GDF\ S[8,F KMSZFVM K[ m
(A) 19 (B) 31 (C) 33 (D) 34

042. ;FAZDTL B\EFTGF VBFTG[ D/[ K[ tIF\ ZRFTF 58G[_____________GL BF0L SC[JFI K[P
(A) ;]JF,L (B) SF[5F,L (C) BFZL;ZL (D) ,F6F;ZL

043. T:SZ BFTZ 5F0JF4 UIF Jl6SG[ £FZ4 tICF\ EÄT T}8L 50L4 RMZ NAFIF RFZP v VF5[, 5\lST DF8[ IMuI K\N
VM/BFJMP

(A) ClZULT (B) RM5F. (C) ;J{IF (D) NMCZM

044. GLR[GFDF\YL SF[GF[ ;DFJ[X c;FT5]0F 5J"TDF/FcDF\ YFI K[m
(A) ZFH5L5/FGL 8[SZLVF[ (B) KM8F pN[5]ZGL 8[SZLVF[

(C) ;F5]TFZF 0]\UZ (D) ;F[GU-GF[ 0]\UZ

045. What is the feminine of "Drone" ?
(A) Droness (B) Drones (C) Bee (D) Drane 

046. U]HZFTDF\ TF\A]4 ;L;]4 H;T SIF lJ:TFZDF\YL D/[ K[m
(A) VFA] 0]\UZ (B) KF[8F pN[5]Z (C) VFZF;]Z 0]\UZF[ (D) ZFH5L5/FGF 0]\UZF[

047. ;JM"rR VNF,T[ SIF S[;DF\ R]SFNM VF%IM S[vccEFZTLI A\WFZ6GM VFWFZ D}/E}T VlWSFZ VG[ ZFßIGLlTGF

DFU"NX"S l;âF\TMGF ;\T],G 5Z ZC[,M K[cc

(A) UM,SGFY S[; (B) S[XJFG\N EFZTL S[; (C) lDGJF" lD<; S[; (D) D[GSF UF\WL S[;

048. IFNL-I GL ;FY[ IFNL-IIGM ;FRM HJFA 5;\N SZL IFNLGL GLR[ VF5[, RFZ lJS<5M 5{SL V[S lJS<5 5;\N SZMP
IFNL-I         IFNL-II

I. GF6F\ VFIMU (a) VG]rK[N - 280

II. lGI\+6 VG[ DCF,[BF 5lZ1FS (b) VG]rK[N - 148

III. VG];]lRT HFlTVM DF8[G]\ ZFQ8=LI VFIMU (c) VG]rK[N - 338

(A) I - a, II - b, III - c (B) I - a, II - c, III - b (C) I - a, II - b, III - c (D) I - c, II - a, III - b

049. lJZ]âFYL" XaNGL VIMuI Ô[0 5;\N SZMP
(A) WZTL v VFSFX (B) lHCŸJF v Z;GF (C) ;]JF/]\ v AZK8 (D) NlZ§ v VDLZ
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050. EFZTLI A\WFZ6DF\ A\NL 5|tI1FLSZ6 ZL8 ACFZ SF-JFGL ;¿F SMGL 5F;[ K[  m
(A) lH<,F gIFIF,I (B) OST CF.SM8" (C) OST ;]l5|D SM8" (D) CF.SM8" VG[ ;]l5|D SM8" AgG[

051. A synonym for  PROHIBIT
(A) Forbid (B) Forfeit (C) Forsake (D) Forbear

052. A[ G/YL V[S 8F\SL EZFTF VG]S|D[ 10 VG[ 8 S,FS ,FU[ K[P +LHF G/ äFZF 8F\SL BF,L YTF 15 S,FS ,FU[ K[ TF[ HF[
TDFD G/ V[S ;FY[ RF,]\ SZJFDF\ VFJ[ TF[ 8F\SL EZFTF\ S[8,F[ ;DI ,FU[m

(A) 30 S,FS (B) 
3

3
6

S,FS (C)
6

6
19

S,FS (D) 15 S,FS

053. „C;LC;LG[ T[ A[J0 J/L UIM‟ v Z[BF\lST XaNGM S'N\TGM 5|SFZ H6FJMP
(A) JT"DFG S'N\T (B) ElJQI S'N\T (C) ;A\WS E}TS'N\T (D) E}TS'N\T

054. A/J\TZFI DC[TF ;lDlT VG];FZ4 lH<,F S,[S8Z PPPPPPPP

(A) lH<,F 5\RFITDF\YL ACFZ ZFBJF HM.V[P
(B) lH<,F 5\RFITDF\ DT G VF5GFZF ;eI CMJF HM.V[P

(C) lH<,F 5\RFITDF\ DT VF5JFGM CÞ WZFJTF ;eI CMJF HM.V[P
(D) lH<,F 5\RFITGF VwI1F CMJF HM.V[P

055. cDFZ[ DG U|FD;EF H UFDGL ,MSXFCL K[Pc VFD SM6[ Sæ]\ K[ m

(A) HJFCZ,F, GC[Z] (B) UF\WLÒ (C) ;ZNFZ 58[, (D) HI5|SFX GFZFI6

056. GLR[GFDF\YL S. ;\bIF 5|FS'lTS ;\bIFGM JU" G H CMI m
(A) 32761 (B) 81225 (C) 42437 (D) 20164

057. SIF A\WFZ6LI ;]WFZFYL DlC,FVF[ DF8[ U|FD 5\RFITGL 33 8SF A[9SF[ VGFDT ZFBJFDF\ VFJ[ K[m
(A) 72DF\ (B) 73DF\ (C) 92DF\ (D) 101DF\

058. 'Planned Economy for India' GFDG]\ 5]:TS SM6[ ,bI]\ CT]\ m

(A) HJFCZ,F, GC[Z] (B) AFAF;FC[A VF\A[0SZ (C) V[DPlJV[VZ{IF (D) 5|MP JLPV[DPNF\0[SZ

059. GLR[GFDF\YL BM8L Ô[06L 5;\N SZMP
(A) E},FD6L (B) µlD" (C) lH<,M (D) 5|SL6"

060. Fill in the blank :________much water ________  I add to the curry?
(A) how, should (B) who, should (C) what, should (D) which, would 

061. „lJ`J Ã;C lNJ;‟ SIFZ[ pHJJFDF\ VFJ[ K[ m

(A) 12 VMU:8 (B) 10 VMU:8 (C) 9 VMU:8 (D) 8 VMU:8

062. 5|JFCLG[ V[S 5F+DF\YL ALÔ 5F+DF\ Z[0TF\ X\] HMJF D/[ K[m

(A) T[GF\ VFSFZ VG[ SN AN,FI K[P (B) T[GM VFSFZ AN,FI K[4 5Z\T] SN AN,FT\] GYLP
(C) T[G\] SN AN,FI K[4 5Z\T] VFSFZ AN,FTM GYLP (D) T[GF VFSFZ VG[ SNDF\ O[ZOFZ YTM GYLP

063. IMuI Ô[0SF\ Ô[0MP

(1) SN (a) 5F:S,
(2) N/ (b) DL8Z#

(3) NAF6 (c) lS,MU|FD
(4) 3GTF (d) lS,MU|FD 5|lTDL8Z#

(A) 1-a, 2-b, 3-c, 4-d (B) 1-b, 2-d, 3-a, 4-c (C) 1-c, 2-a, 3-b, 4-d (D) 1-b, 2-c, 3-a, 4-d

064. GLR[ VF5[,F XaNGM ;DFGFYL" XaN H6FJMP

„VlGZ]â‟ v
(A) ZMSFI[,]\ (B) VFlNZlCT (C) VGFlDQF (D) GCÄ .rK[,]\

065. cDMg8=LI, 5|M8MSM,c S. AFAFT ;FY[ ;\S/FI[,  K[ m
(A) u,MA, JDL"UGL RSF;6L SZJL (B) VMhMGGL VF0V;ZM T5F;JL

(C) u,MA, JDL"U VG[ VMhMGGL V;ZM T5F;JL (D) AFIM0FIJZ;L8LGL Z1F6 SZJ]\

066. Fill in the blanks: What __________ to Phil? He said he __________ here at eight o'clock.
(A) might have happened / will be (B) should have happened / has been
(C) may happen / will have been (D) can have happened / would be

067. „C]\I 5|YD JU"DF\ 5F; Y.X Ô[Ô[‟ VF JFSIDF\ lG5FT H6FJMP

(A) I (B) DF\ (C) X (D) A VG[ C A\G[
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068. V[S jIÂST ~FP5000/- 5|tI[SGF T[ 5|DF6[ A[ DF[AF., J[R[ K[P T[DF\ V[SDF\ T[G[ 50% OFINF[ YFI K[ VG[ ALHFDF\ 25% 

G]SXFG YFI K[ TF[ VF jIJCFZDF\ T[G[ S[8,F[ OFINF[ VYJF S[8,]\ G]SXFG YX[ m  

(A) 25% OFINF[ (B) 25% G]SXFG  (C) G OFINF[ G G]SXFG (D) V5}ZTL DFlCTL 

069. Choose correct option. 
Mr Patel said to the police man, “Let me park my scooter here.” (Change into Indirect Speech) 
(A) Mr Patel requested the police man to let him park his scooter there. 
(B) Mr Patel ordered the police man to park their scooter here. 
(C) Mr Patel asked the police man if I could park my scooter here. 
(D) Mr Patel suggested the police man that he should park my scooter there. 

070. U]HZFTL ;FlCtISFZ DC[g§Ã;C 5ZDFZG]\ HgD :Y/ H6FJMP 
(A) Gl,IF (B) B\EZF (C) S]S6F (D) VDNFJFN 

071. Choose the correct meaning of the idiom : Apple-pie order 
(A) A sweet manner (B) bring out the secret (C) break the stick (D) extreme neatness 

072. V[4 DF\4 p5Z4 5Z S. lJElST DF8[GF 5|tIIM K[ m 
(A) SZ6 lJElST (B) V5FNFG lJElST (C) ;\AMWG lJElST  (D) VlWSZ6 lJElST 

073. Give the noun of  ‘permit’ 
(A) permissible (B) permission  (C) permitted (D) permision 

074. DGCZGF NFNFV[ HDLGDF\ D}0LZMSF6 SZ[,]\ v Z[BF\lST XaNGM ;DF; H6FJMP 
(A) DwID5N,M5L (B) Tt5]Z]QF (C) SD"WFZI  (D) £g£ 

075. Choose the correct article : ____________ sun sheds his beams on the rich and the poor alike. 
(A)  A (B) An (C) The (D) No Article  

076. lJGF[N SFZ äFZF 420 km GL D];FOZL 5 hr. 15 min. DF\ 5}ZL SZ[ K[P 5|YD 1/4 V\TZ 60 km/hrGL h05[ SF5[ K[P 
AFSLG]\ V\TZ S. h05[ SF%I\] CX[ m   
(A) 90 km/hr (B) 105 km/hr. (C) 100 km/hr.   (D) 85 km/hr 

077. „K[ DTJF,L4 GYL GDF,L4 GJF ,MCLGL ,F,L‟ v V,\SFZ VM/BFJMP 
(A) 5|F;;F\S/L (B) J6F"G]5|F; (C) ;ÒJFZM56  (D) IDS 

078.  Fill in the blank : "Why are ______ here ? Are ______ in trouble ?" asked the girls in the headmaster's office. 
(A) us, us (B) we, us (C) us, we (D) we, we 

079. GLR[DF\YL l£Z]lST XaN H6FJMP 
(A) E[/;[/ (B) 8G8G (C) BNAN  (D) Z6h6 

080.  Fill in the blank: We are going to wait at the bus stop ______ the rain stops. 
(A) because (B) despite (C) unless (D) until 

081. GLR[ 5{SL SIM XaN lJSFZL ;\7F NXF"J[ K[ m 
(A) V[S (B) SZ]6 (C) G8B8  (D) GBZF/]\ 

082. Which is the correct spelling? 
(A) bureaucracy (B) bueracracy (C) buraucracy (D) bureacracy 

083. GLR[ VF5[, JFSIG]\ ST"lZ JFSIDF\ ~5F\TZ SZMP 
„AWF V[SD[SG[ DL9F. BJ0FJ[ K[P‟ 
(A) AWFYL V[SD[SG[ DL9F. BJ0FJFI K[P (B) AWF DL9F. BFI K[P 

(C) AWF\YL DL9F. BJFI K[P   (D) AWF\YL DL9F. V5FI K[P 

084. Select proper question tag : Hayley's your best friend! You should come to her party, 
(A) shouldn't you? (B) isn't she? (C) should you? (D) Will you ? 

085. „DC[Z R0J]\‟ v ~l-5|IMUGM IMuI VY" VF5MP 
(A) YF\E,F 5Z R0J]\ (B) VFÒÒ SZJL (C) N[JF/]\ CMJ]\  (D) ;FD ;FD[ :5WF"DF\ pTZJ]\ 

086.  Fill in the blank: _______ 2000, I have been a college student.  
(A) On (B) Since (C) To (D) For 

087. „3M0F4 A/N JU[Z[G[ BFJF DF8[ V5FT]\ VGFH‟ v XaN;D}C DF8[ V[S XaN VF5MP 
(A) UDF6 (B) Ô[U6 (C) 5[U0]\  (D) N/L 

088. Select the correct adjective: He writes meaningless letters. 
(A) Writes  (B) meaningless (C) letters  (D) he 
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089. EFZT ;ZSFZ £FZF VF5JFDF\ VFJTM „7FG5L9 5]Z:SFZ‟DF\ SIF 5lZJFZ £FZF NFGGL ZSD VF5JFDF\ VFJ[ K[ m

(A) ;FC] H{G 5lZJFZ (B) ;FC] AF{W 5lZJFZ (C) SlJ GD"N 5lZJFZ (D) GZÃ;C DC[TF 5lZJFZ

090. „VVPAT‟ G]\ 5}Z]\ GFD H6FJMP
(A) Voter Verified Paper Audit Trail (B) Voter Verifiable Paper Audit Trail
(C) Voter Verification Paper Audit Trail (D) Voter Verified Paper Audit Trail

091. GLR[ VF5[, ZDT 5{SL S. ZDTDF\ ;F{YL JWFZ[ B[,F0LVM CMI K[ m
(A) ZuAL O}8AM, (B) ,[ÊZM; (C) JM8Z 5M,M (D) ;MSZ

092. ZDTvUDT 1F[+[ VF5JFDF\ VFJTM ZFÒJ UF\WL B[, ZtG V[JM0" sD[HZ wIFGR\§ B[, ZtG V[JM0"f ;F{5|YD SMG[
VF5JFDF\ VFjIM CTMP
(A) lJ`JGFY VFG\N (B) ULT ;[YL (C) l,Vg0Z 5[; (D) 5]Q5[g§ S]DFZ UU"

093. ;DZ; U|FD 5\RFIT IMHGFGL X~VFT SIFZ[ SZJFDF\ VFJL CTL m
(A) JQF" 2001 (B) JQF" 2004 (C) JQF" 2008 (D) JQF" 2005

094. U|FdI lJ:TFZDF\ J;TF 3Z lJCM6F S]8]\AMG[ 5FS]\ DSFG VF5JF ;ZNFZ 58[, VFJF; IMHGF V\TU"T S[8,L ;CFI
VF5JFDF\ VFJ[ K[ m

(A) ~FP 1,20,000 (B) ~FP 45,000 (C) ~FP 90,000 (D) ~FP 2,50,000 

095. TFH[TZDF\ SIF ZFHIDF\ „C:T S,F GLlT 2022‟ G[ D\H}ZL VF5JFDF\ VFJL K[P

(A) ZFH:YFG (B) VF;FD (C) VMl0XF (D) U]HZFT

096. TFH[TZDF\ S. ;\:YF äFZF ZFQ8=LI :TZ[ „8[S U]Z] V[JM0"‟ VF5JFGL ÔC[ZFT SZLm
(A) U]HZFT I]lGJl;"8L (B) JLZ GD"N ;FpY U]HZFT I]lGJl;"8L

(C) U]HZFT 8[SGM,MÒS, I]lGJl;"8L (D) U]HZFT lJnFNL5 I]lGJl;"8L

097. TFH[TZDF\ GLlT VFIMU (Niti Ayog) äFZF SIF JQF" ;]WLDF\ EFZTGF NZ[S ZFHIMDF\ GLTL VFIMU H[JL ;\:YFVMGL

:YF5GF SZJFDF\ VFJX[m
(A) JQF" 2030 (B) JQF" 2047 (C) JQF" 2050 (D) JQF" 2070

098. DFGJ lJSF; lZ5M8" (HDR) VG];FZ DFGJlJSF; ;}RSF\SDF\ EFZTGM ÊD JQF" 2020 DF\ 130 YL 38LG[ JQF" 2021 DF\
S[8,M YIM K[m
(A) 133 (B) 134 (C) 132 (D) 131

099. TFH[TZDF\ ____________ ZFßIDF\ EFZTGL 5|YD OMZ[:8 I]lGJl;"8LGL :YF5GF SZJFDF\ VFJX[P

(A) T[,\UF6F (B) p¿ZFB\0 (C) Dl65]Z (D) DwI5|N[X

100. GLR[GL z[6LDF\ V[S ;\bIF A\W A[;TL GYL T[ S. K[ m
125, 126, 124, 127, 123, 129
(A)126 (B) 124 (C) 123 (D) 129

  BEST OF LUCK  
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